\$284,187.98



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2025

Progress	Contract ID	250117-H02	Pay Period Start	September 16, 2025	Original Contract Amount	\$1,847,000.00
Estimate Number	Prime Contractor	West Plains Bridge & Grading, LLC	Pay Period End	September 30, 2025	Net Change Order Amount	\$9,232.00
5					Current Contract Amount	\$1,856,232.00

Approval Date		By User
October 1, 2025	Generated and Approved (and should be considered Draft) at the Project Office Level by	wilesr
October 1, 2025	Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by	hillsd1
October 3, 2025	Reviewed and Approved at the Central Office Controllers Office Level by	ramses1

Original Completion Date	Current Completion Date	Actual Completion D	ate	% of Current Contract Amount Complete
November 1, 2025	November 1, 2025			60.84%
Co	ontract Informational Dates			Milestones

Date DescriptionOriginal Completion DateCurrent Completion DateAcceptance DateAwarded DateFebruary 5, 2025February 5, 2025Letting DateJanuary 17, 2025January 17, 2025Notice to Proceed DateFebruary 20, 2025February 20, 2025Work Began Date

No Milestones Exist for Contract

Contract Total Pay For Estimate No. 5				
	This Estimate	Previous	To Date	
250117-H02				
Total Posted Items Pay	\$284,187.98	\$845,228.02	\$1,129,416.00	
Gross Item Adjustments	\$105.23	\$0.00	\$105.23	
Incentive	\$0.00	\$0.00	\$0.00	
Disincentive	\$0.00	\$0.00	\$0.00	
Liquidated Damage	\$0.00	\$0.00	\$0.00	
Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
		\$8 <mark>45,228.02</mark>	\$1,129,521.23	

Contract Total Payable This Estimate: \$284,293.21

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J9P3690	0010	1081000	SIGNET DBE REPORTING	LS	\$1,000.000	1	\$1,000.00
	0040	2031000	CLASS A EXCAVATION	CUYD	\$30.000	540	\$16,200.00
	0050	2064000	POROUS BACKFILL	CUYD	\$135.000	29	\$3,915.00
	0060	2129909	MISC.SHOULDER GRADING	STA	\$3,650.000	2	\$7,300.00
	0800	2153000	SHAPING SLOPES, CLASS III	100F	\$1,750.000	4	\$7,000.00
	0090	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	TONS	\$460.000	31.400	\$14,444.00
	0100	4019910	MISC.OPTIONAL SHOULDER BASE - PMBB 64-22	TONS	\$105.000	73	\$7,665.00
	0210	6181000	MOBILIZATION	LS	\$153,258.040	0.500	\$76,629.02
	0270	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$27.500	488	\$13,420.00
	0280	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	SQYD	\$3.500	1,250	\$4,375.00
	0290	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$25,000.000	0.500	\$12,500.00
	0370	6061060	MGS GUARDRAIL	LF	\$26.440	338	\$8,936.72
	0380	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	EA	\$3,933.740	4	\$15,734.96
	0390	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	EA	\$3,307.070	4	\$13,228.28
	0460	7034219A	TYPE D BARRIER	LF	\$155.000	528	\$81,840.00
Project J9I	P3690 - To	tal					\$284,187.98

Contract Adjustments This Estimate

Overall - Total

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Revision 9/2/2025 Page 1 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2025

Progress
Estimate Number
5Contract ID250117-H02Pay Period Start
Pay Period EndSeptember 16, 2025
September 30, 2025Original Contract Amount
Net Change Order Amount
Current Contract Amount\$1,847,000.00
\$9,232.00

	5				· · · · · · · · · · · · · · · · · · ·	urrent Contra	ict Amount	\$1,856,232.00
oject Imber	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
P3690	0800	SHAPING SLOPES, CLASS	Material			-4	\$1,750.00	(\$7,000.00)
	0080	SHAPING SLOPES, CLASS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0001) due to user wilesr overridding Payment Estimate Exception 1 on the current Payment Estimate.	4	\$1,750.00	\$7,000.00
	0090	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material			-31.40000	\$460.00	(\$14,444.00)
	0090	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0002) due to user wilesr overridding Payment Estimate Exception 2 on the current Payment Estimate.	31.40000	\$460.00	\$14,444.00
	0090	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	Other Item Adjustment	Asphalt Cement Price Adjustment	62.7 tons of BP2 4.2% BP2 24-33			\$52.67
	0100	MISC.	Material			-73	\$105.00	(\$7,665.00)
	0100	MISC.	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0003) due to user wilesr overridding Payment Estimate Exception 3 on the current Payment Estimate.	73	\$105.00	\$7,665.00
	0100	MISC.	Other Item Adjustment	Asphalt Cement Price Adjustment	73.0 tons of Bit Base BB 22-22 3.6%			\$52.56
	0280	PERMANENT EROSION CONTROL GEOTEXTILE	Material			-1,250	\$3.50	(\$4,375.00)
	0280	PERMANENT EROSION CONTROL GEOTEXTILE	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0004) due to user wilesr overridding Payment Estimate Exception 11 on the current Payment Estimate.	1,250	\$3.50	\$4,375.00
	0370	MGS GUARDRAIL	Material			-338	\$26.44	(\$8,936.72)
	0370	MGS GUARDRAIL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0005) due to user wilesr overridding Payment Estimate Exception 7 on the current Payment Estimate.	338	\$26.44	\$8,936.72
	0380	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	Material			-4	\$3,933.74	(\$15,734.96)
	0380	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0006) due to user wilesr overridding Payment Estimate Exception 9 on the current Payment Estimate.	4	\$3,933.74	\$15,734.96
	0390	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material			-4	\$3,307.07	(\$13,228.28)
	0390	TYPE A CRASHWORTHY END TERMINAL (MASH)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0007) due to user wilesr overridding Payment Estimate Exception 10 on the current Payment Estimate.	4	\$3,307.07	\$13,228.28
	0440	BRIDGE APPROACH SLAB (MINOR ROAD)	Material			-59	\$425.00	(\$25,075.00)
	0440	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		This adjustment offsets the original system- generated Material Payment Estimate Item	59	\$425.00	\$25,075.00

Revision 9/2/2025 Page 2 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: October 1, 2025

Progress Contract ID 250117-H02 Pay Period Start September 16, 2025 Original Contract Amount \$1,847,000.00
Estimate Number Prime Contractor West Plains Bridge & Grading, LLC Pay Period End September 30, 2025 Net Change Order Amount \$9,232.00
Current Contract Amount \$1,847,000.00
\$4,847,000.00
\$4,847,000.00
\$4,847,000.00
\$4,9232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$4,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,856,232.00
\$5,

5				С	urrent Contra	ct Amount	\$1,856,232.0
Project Line Number No.		Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
9P3690				Adjustment (0008) due to user wilesr overridding Payment Estimate Exception 4 on the current Payment Estimate.			
0450	SLAB ON STEEL	Material			-841	\$525.00	(\$441,525.00
0450	SLAB ON STEEL	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0009) due to user wilesr overridding Payment Estimate Exception 12 on the current Payment Estimate.	841	\$525.00	\$441,525.00
0460	TYPE D BARRIER	Material			-528	\$155.00	(\$81,840.00)
0460	TYPE D BARRIER	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0010) due to user wilesr overridding Payment Estimate Exception 14 on the current Payment Estimate.	528	\$155.00	\$81,840.00
0560	VERTICAL DRAIN AT END BENTS	Material			-1	\$2,200.00	(\$2,200.00
0560	VERTICAL DRAIN AT END BENTS	Material		This adjustment offsets the original system- generated Material Payment Estimate Item Adjustment (0011) due to user wilesr overridding Payment Estimate Exception 15 on the current Payment Estimate.	1	\$2,200.00	\$2,200.00
otal							\$105.23

Revision 9/2/2025 Page 3 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					Co	ontract Project Informa	ation
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work
J9P3690	FAF 17-1(25)	Bridge deck replacement	17	TEXAS	over Roubidoux Creek		
Totals b	y Job N	umbers					
J9P3690					This Estimate	Previous	To Date
		ed Item Pay s Item Adjustn			\$284,187.98 \$105.23	\$845,228.02 \$0.00	\$1,129,416.00 \$105.23
			Gros	s Item Pay	\$284,293.21	\$845,228.02	\$1,129,521.23
	Incen	tive			\$0.00	\$0.00	\$0.00
	Disin	centive			\$0.00	\$0.00	\$0.00
		dated Damage			\$0.00	\$0.00	\$0.00
	041	Contract Adju			\$0.00	\$0.00	\$0.00

Revision 5/29/2025 Page 4 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 2153000, Project Item Line Number 0080, Material Set 215300096, Material 3304AGBS - Aggregate Base JSP, Acceptance Action Generic 3304AGBS is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 4011209, Project Item Line Number 0090, Material Set 401120996, Material 0401BPPMBP2 - Plant Mix for Bit Pavement BP-2, Acceptance Action Generic AspLow is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 4019910, Project Item Line Number 0100, Material Set 401991096, Material 0401BPPMBB - Plant Mix Bituminous Base, Acceptance Action Generic AspLow is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 5031011A, Project Item Line Number 0440, Material Set 5031011A96, Material 1058PSBB - Polyethylene Sheeting for Bond Breaker, Acceptance Action Generic 1058PSBB is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 5031011A, Project Item Line Number 0440, Material Set 5031011A96, Material 1055CMMLDST2 - White Pavement-Bridge Dissipating Cure @, Acceptance Action Generic 1055CMMLDST2 is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 5031011A, Project Item Line Number 0440, Material Set 5031011A96, Material 1013DMCRPE04 - Underdrain Corrugated PE 4" (100mm), Acceptance Action Generic 1013DMCRPE04 is insufficient.	No Remark was entered by Engineer	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 6061060, Project Item Line Number 0370, Material Set 606106096, Material 1040GRSRCAT2 - Steel Beam for Class A Type 2 Guard Rail, Acceptance Action Generic 1040GRSRCAT2 is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 6061060, Project Item Line Number 0370, Material Set 606106096, Material 1065DE - Delineators, Acceptance Action Generic 1065DE is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 6061081, Project Item Line Number 0380, Material Set 606108196, Material 1040GRAB - Bridge Anchor Section, Acceptance Action Generic 1040GRAB is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 6063014, Project Item Line Number 0390, Material Set 606301496, Material 1040GRCWA - Crashworthy End Terminal Type A, Acceptance Action Generic 1040GRCWA is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 6240103A, Project Item Line Number 0280, Material Set 6240103A96, Material 1011GXT3 - Geotextile Fabric for ErosionControl(T3), Acceptance Action Generic 1011GXT3 is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 7034212, Project Item Line Number 0450, Material Set 703421296, Material 0705DPRCPS30 - Prestress Conc Deck Panel 3" (75 mm), Acceptance Action Generic 0705DPRCPS30 is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 7034212, Project Item Line Number 0450, Material Set 703421296, Material 0501CCB2MDA - Concrete, Modified B-2 w/Air, Acceptance Action Generic 0501CCB2MDA is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 7034219A, Project Item Line Number 0460, Material Set 7034219A96, Material 0501CCB1.A - Concrete, Class B-1 w/Air, Acceptance Action Generic 0501CCB1.A is insufficient.	Material Ok - Reports not complete	WILESR	Overridden
Estimate Exception Type: Insufficient Materials: Project J9P3690, Item 7151001, Project Item Line Number 0560, Material Set 715100196, Material 0715DRVT - Vertical Drain at End Bents, Acceptance Action Generic 0715DRVT is insufficient.	Material Ok - Reports not complete	WILESR	Overridden

Revision 5/29/2025 Page 5 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ntract D	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
117-	J9P3690	0001	0010	1081000	SIGNET DBE REPORTING	1.00	0.00	1.00	LS	1.00	\$1,000.00	\$1,000.0
		0001	0020	2013000	CLEARING AND GRUBBING	1.00	0.00	1.00	ACRE	0.50	\$4,500.00	\$2,250.0
		0001	0030	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	1.00	\$2,000.00	\$2,000.0
		0001	0040	2031000	CLASS A EXCAVATION	540.00	0.00	540.00	CUYD	540.00	\$30.00	\$16,200.0
		0001	0050	2064000	POROUS BACKFILL	29.00	0.00	29.00	CUYD	29.00	\$135.00	\$3,915.0
		0001	0060	2129909	MISC.SHOULDER GRADING	2.00	0.00	2.00	STA	2.00	\$3,650.00	\$7,300.0
		0001	0070	2149907	MISC.FURNISHING AND PLACING 12"-18" ROCK FILL	3,105.00	0.00	3,105.00	CUYD	1,500.00	\$65.00	\$97,500.
		0001	0080	2153000	SHAPING SLOPES, CLASS III	4.00	0.00	4.00	100F	4.00	\$1,750.00	\$7,000.
		0001	0090	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	31.40	31.30	62.70	TONS	31.40	\$460.00	\$14,444.
		0001	0100	4019910	MISC.OPTIONAL SHOULDER BASE - PMBB 64-22	122.20	-49.20	73.00	TONS	73.00	\$105.00	\$7,665.
		0001	0110	4071005	TACK COAT	55.00	0.00	55.00	GAL	0.00	\$5.00	\$0.
		0001	0120	6096010A	FURNISHING TYPE 1 ROCK DITCH LINER	19.00	0.00	19.00	CUYD	0.00	\$45.00	\$0.
		0001	0130	6096041	PLACING TYPE 1 ROCK DITCH LINER	19.00	0.00	19.00	CUYD	0.00	\$30.00	\$0.
		0001	0140	6123001	TRUCK MOUNTED ATTENUATOR (TMA)	1.00	0.00	1.00	LS	0.00	\$4,500.00	\$0.
		0001	0150	6161005	CONSTRUCTION SIGNS	687.00	0.00	687.00	SQFT	687.00	\$7.00	\$4,809.
		0001	0160	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	2.00	\$45.00	\$90.
		0001	0170	6161025	CHANNELIZER (TRIM-LINE)	40.00	0.00	40.00	EA	40.00	\$24.00	\$960.
		0001	0180	6161030	TYPE 3 MOVEABLE BARRICADE	6.00	0.00	6.00	EA	6.00	\$185.00	\$1,110.
		0001	0190	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED / RETAINED	2.00	0.00	2.00	EA	2.00	\$3,000.00	\$6,000
		0001	0200	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$1,200.00	\$0.
		0001	0210	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$153,258.04	\$153,258.
		0001	0210	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	2,110.00	0.00	2,110.00	LF	0.00	\$1.85	\$133,236.
		0001					0.00		LF			
		0001	0230	6205303B 6206000C	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW 4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	1,028.00	0.00	2,000.00 1,028.00	LF	0.00	\$1.85 \$1.00	\$0 \$0
		0001	0250	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	495.00	0.00	495.00	LF	0.00	\$1.00	\$0
		0001	0260	6207001	PAVEMENT MARKING REMOVAL	1,505.00	0.00	1,505.00	LF	0.00	\$1.00	\$0
		0001	0270	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	488.00	0.00	488.00	SQYD	488.00	\$27.50	\$13,420
		0001	0280	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	1,250.00	0.00	1,250.00	SQYD	1,250.00	\$3.50	\$4,375
		0001	0290	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	1.00	\$25,000.00	\$25,000
		0001	0300	8025006	MULCHING	0.70	0.00	0.70	ACRE	0.00	\$2,000.00	\$0
		0001	0310	8051000A	SEEDING - COOL SEASON GRASSES	0.70	0.00	0.70	ACRE	0.00	\$3,500.00	\$0
		0001	0320	8061003	SEDIMENT TRAP EXCAVATION	3.60	0.00	3.60	CUYD	0.00	\$120.00	\$0
		0001	0330	8061004	SEDIMENT TRAP ROCK	3.60	0.00	3.60	CUYD	0.00	\$250.00	\$0
		0001	0340	8061016	SEDIMENT REMOVAL	11.00	0.00	11.00	CUYD	0.00	\$10.00	\$0
		0001	0350	8061019	SILT FENCE	150.00	0.00	150.00	LF	0.00	\$6.25	\$0
		0001	0360	8061050	TYPE C BERM	518.00	0.00	518.00	LF	150.00	\$26.50	\$3.975
		0010	0370	6061060	MGS GUARDRAIL	338.00	0.00	338.00	LF	338.00	\$26.44	\$8,936
		0010	0380	6061081	MGS BRIDGE APPROACH TRANSITION (THRIE-BEAM BRIDGE)	4.00	0.00	4.00	EA	4.00	\$3,933.74	\$15,734
		0010	0390	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	4.00	0.00	4.00	EA	4.00	\$3,307.07	\$13,228
		0030	0400	9029400	TEMPORARY TRAFFIC SIGNALS	2.00	0.00	2.00	LS	0.00	\$3,850.00	\$0
		0070	0410	2061000	CLASS 1 EXCAVATION	40.00	0.00	40.00	CUYD	40.00	\$95.00	\$3,800
		0070	0420	2162500	REMOVAL OF EXISTING BRIDGE DECK	7,831.00	0.00	7,831.00	SQFT	7,831.00	\$15.00	\$117,465
		0070	0430	2163502	PARTIAL REMOVAL OF SUBSTRUCTURE CONCRETE	1.00	0.00	1.00	LS	1.00	\$4,500.00	\$4,500
		0070	0440	5031011A		59.00	0.00	59.00	SQYD	59.00	\$425.00	\$25,075
		0070			BRIDGE APPROACH SLAB (MINOR ROAD)							
		0070	0450	7034212	SLAB ON STEEL	935.00	0.00	935.00	SQYD	841.00	\$525.00	\$441,525
		0070	0460		TYPE D BARRIER	587.00	0.00	587.00	LF	528.00	\$155.00	\$81,840
		0070	0470	7040102 7110200	SUBSTRUCTURE REPAIR (UNFORMED) PROTECTIVE COATING - CONCRETE BENTS AND PIERS (EPOXY)	350.00	0.00	350.00	SQFT	0.00	\$4.50 \$14,000.00	\$0 \$0
		0070	0490	7121159	SHEAR CONNECTORS	2,560.00	0.00	2 560 00	EA	2,560.00	¢7 E0	¢10.200
		0070						2,560.00			\$7.50	\$19,200
		0070	0500	7123610	SLAB DRAIN	52.00	0.00	52.00	EA	52.00	\$425.00	\$22,100
		0070	0510	7125200	SURFACE PREPARATION FOR RECOATING STRUCTURAL STEEL FIELD APPLICATION OF ORGANIC ZINC PRIMER	9,600.00	0.00	9,600.00	SQFT	0.00	\$47.00 \$2.00	\$C
		0070	0520	7125209 7125365A	INTERMEDIATE FIELD COAT (SYSTEM G)	9,600.00	0.00	9,600.00 2,700.00	SQFT	0.00	\$2.00	\$0

Revision 5/29/2025 Page 6 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract ID	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
250117-	J9P3690	0070	0550	7126000	NON-DESTRUCTIVE TESTING	28.00	0.00	28.00	LF	28.00	\$55.00	\$1,540.00
H02		0070	0560	7151001	VERTICAL DRAIN AT END BENTS	1.00	0.00	1.00	EA	1.00	\$2,200.00	\$2,200.00
		0070	0570	7172054	OPEN CELL FOAM JOINT SEAL	26.00	0.00	26.00	LF	0.00	\$95.00	\$0.00
	Project JS	9P3690 - To	tal Value	Posted to D	ate as of Report Generated Date							\$1,129,416.00
250117-H02 Overall - Total Value Posted to Date as of Report Generated Date										\$1,129,416.00		

Revision 5/29/2025 Page 7 of 11



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J9P3690

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Posting Sequence No.	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0010	1081000	SIGNET DBE REPORTING	9/26/25	10/1/25	1	1.00	LS	payment in accordance with JSP					
0040	2031000	CLASS A EXCAVATION	9/30/25	10/1/25	1	540.00	CUYD	bent 1 fill slope benching					
0050	2064000	POROUS BACKFILL	9/30/25	10/1/25	1	29.00	CUYD	Bent 1 backwall					
0060	2129909	MISC. SUBGRADING & SHOULDERING	9/30/25	10/1/25	1	2.00	STA	shoulders at bridge approach					
0800	2153000	SHAPING SLOPES, CLASS III	9/26/25	10/1/25	1	4.00	100F	Each corner of bridge					
0090	4011209	BIT. PAVEMENT MIXTURE PG64-22 (BP-1)	9/26/25	10/1/25	1	31.40	TONS	bridge approaches					
0100	4019910	MISC.	9/26/25	10/1/25	1	73.00	TONS	shoulder widening and SBL repair					
0210	6181000	MOBILIZATION	9/17/25	10/1/25	1	0.50	LS	based on % complete					
0270	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	9/26/25	10/1/25	1	488.00	SQYD	bridge approaches					
0280	6240103A	PERMANENT EROSION CONTROL GEOTEXTILE	9/30/25	10/1/25	1	1,250.00	SQYD	Bent 1 fill slope					
0290	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	9/30/25	10/1/25	1	0.50	LS	Remainder					
0370	6061060	MGS GUARDRAIL	9/30/25	10/1/25	1	338.00	LF	bridge approaches					
0380	6061081	MGS BR APP TRANSITION (THRIE-BEAM BRIDGE	9/30/25	10/1/25	1	4.00	EA	bridge ends					
0390	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	9/30/25	10/1/25	1	4.00	EA	bridge ends					
0460	7034219A	TYPE D BARRIER	9/17/25	10/1/25	1	528.00	LF	90% for steel and placement of the concrete.					

The information below this line are details for Construction Signs (if applicable).

No Data Available

Revision 6/5/2025 Page 8 of 11



Line Item Adjustments by Estimate

Contract ID: 250117-H02

Major Majo	ect	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
S	690	0800	SLOPES, CLASS	Material		5		SYSTEM	(\$7,000.00)	
Material - Total So.00						5		SYSTEM	\$7,000.00	Estimate Item Adjustment (0001) due to user wilesr overridding Payment
Section					- Total				\$0.00	
National - Total South SysTEM St.4.444 (No. SysTEM Sy				Material - To	otal				\$0.00	
NKTURE	(0080 -	Total						\$0.00	
S	(0090	MIXTURE	Material		5		SYSTEM	(\$14,444.00)	
Material - Total						5		SYSTEM	\$14,444.00	Estimate Item Adjustment (0002) due to user wilesr overridding Payment
Other Item ACAD 5 Oct 1 VILESR \$52.67					- Total				\$0.00	
Adjustment				Material - To	otal				\$0.00	
Other Name					ACAD	5		WILESR	\$52.67	62.7 tons of BP2 4.2% BP2 24-33
Material Society					ACAD - Tota	al			\$52.67	
Misc. Material 5				Other Item	Other Item Adjustment - Total				\$52.67	
2025 5	(0090 -	Total						\$52.67	
Support Supp	(0100	MISC.	Material		5		SYSTEM	(\$7,665.00)	
Material - Total						5		SYSTEM	\$7,665.00	Estimate Item Adjustment (0003) due to user wilesr overridding Payment
Other Item ACAD 5 Oct 1, 2025 WILLESR \$52.56 73.0 tons of Bit Base Bit 22-22 3.6%					- Total				\$0.00	
Adjustment				Material - To	otal				\$0.00	
Other Item Adjustment - Total \$52.56					ACAD	5		WILESR	\$52.56	
					ACAD - Tota	al			\$52.56	
Description				Other Item Adjustment - Total					\$52.56	
2025 SYSTEM \$4,375.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate Estimate Item Adjustment (0004) due to user wilesr overridding Payment Estimate Exception 11 on the current Payment Estimate. 1	(0100 -	- Total						\$52.56	
SYSTEM S4,375.00 This adjustment offsets the original system-generated Material Payment Estimate Exception 11 on the current Payment Estimate Exception 12 on the current Payment Estimate Exception 13 on the current Payment Estimate Exception 14 on the current Payment Estimate Estimate Exception 15 on the current Payment Estimate Estimate Exception 16 on the current Payment Estimate Exception 17 on the current Payment Estimate Exception 17 on the current Payment Estimate Exception 17 on the current Payment Estimate Estimate Exception 7 on the current Payment Estimate Exception 9 on the current Payment Estimate Exception 9 on the current Payment Estimate Exception 9 on the current Payment Estimate Estimate Exception 9 on the current Payment Estimate Exception 9 on the current Payment Estimate Estimate Exception 9 on the current Payment Estimate.	(0280	EROSION CONTROL	Material		5		SYSTEM	(\$4,375.00)	
Material - Total \$0.00						5		SYSTEM	\$4,375.00	Estimate Item Adjustment (0004) due to user wilesr overridding Payment
10370 MGS GUARDRAIL Material 5					- Total				\$0.00	
Material				Material - Total					\$0.00	
GUARDRAIL 2025 5 Oct 1, 2025 \$8,936.72 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0005) due to user wilesr overridding Payment Estimate Exception 7 on the current Payment Estimate. - Total \$0.00 0370 - Total \$0.00 0380 MGS BR APP TRANSITION (THRIE-BEAM) BRIDGE Material - Total \$0.00 5 Oct 1, 2025 6	(0280 -	Total						\$0.00	
2025 Estimate Item Adjustment (0005) due to user wilesr overridding Payment Estimate Exception 7 on the current Payment Estimate. Total \$0.00	(0370		Material		5		SYSTEM	(\$8,936.72)	
Material - Total \$0.00						5		SYSTEM	\$8,936.72	Estimate Item Adjustment (0005) due to user wilesr overridding Payment
10370 - Total 10380 MGS BR APP TRANSITION (THRIE-BEAM BRIDGE 100 1					- Total				\$0.00	
Material System				Material - To	otal				\$0.00	
TRANSITION (THRIE-BEAM BRIDGE 5 Oct 1, 2025	(0370 -	Total	ıl						
BRIDGE 5 Oct 1, 2025 SYSTEM \$15,734.96 This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0006) due to user wilesr overridding Payment Estimate Exception 9 on the current Payment Estimate. Total \$0.00 Material - Total \$0.00 0380 - Total \$0.00 0390 TYPE A Material 5 Oct 1, SYSTEM (\$13,228.28)	(0380	TRANSITION (THRIE-BEAM	Material		5		SYSTEM	(\$15,734.96)	
Material - Total						5		SYSTEM	\$15,734.96	Estimate Item Adjustment (0006) due to user wilesr overridding Payment
0380 - Total \$0.00 0390 TYPE A Material 5 Oct 1, SYSTEM (\$13,228.28)					- Total				\$0.00	
0380 - Total \$0.00 0390 TYPE A Material 5 Oct 1, SYSTEM (\$13,228.28)				Material - To	otal				\$0.00	
0390 TYPE A Material 5 Oct 1, SYSTEM (\$13,228.28)	(0380 -	Total							
END TERMINAL			TYPE A CRASHWORTHY	Material		5	Oct 1, 2025	SYSTEM		



Line Item Adjustments by Estimate

Contract ID: 250117-H02

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J9P3690	0390	(MASH)	Material	71	5	Oct 1, 2025	SYSTEM	\$13,228.28	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0007) due to user wilesr overridding Payment Estimate Exception 10 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	otal				\$0.00	
	0390	- Total						\$0.00	
	0440	BRIDGE APPROACH SLAB (MINOR ROAD)	Material		4	Sep 15, 2025	SYSTEM	(\$25,075.00)	
					4	Sep 15, 2025	SYSTEM	\$25,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user wilesr overridding Payment Estimate Exception 1 on the current Payment Estimate.
					5	Oct 1, 2025	SYSTEM	(\$25,075.00)	
					5	Oct 1, 2025	SYSTEM	\$25,075.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0008) due to user wilesr overridding Payment Estimate Exception 4 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0440	- Total						\$0.00	
	0450	SLAB ON STEEL	Material		3	Sep 2, 2025	SYSTEM	(\$171,675.00)	
					3	Sep 2, 2025	SYSTEM	\$171,675.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0001) due to user wilesr overridding Payment Estimate Exception 1 on the current Payment Estimate.
					4	Sep 15, 2025	SYSTEM	(\$441,525.00)	
					4	Sep 15, 2025	SYSTEM	\$441,525.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0002) due to user wilesr overridding Payment Estimate Exception 4 on the current Payment Estimate.
					5	Oct 1, 2025	SYSTEM	(\$441,525.00)	
					5	Oct 1, 2025	SYSTEM	\$441,525.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0009) due to user wilesr overridding Payment Estimate Exception 12 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0450	- Total						\$0.00	
	0460	TYPE D BARRIER	Material		5	Oct 1, 2025	SYSTEM	(\$81,840.00)	
				5		Oct 1, 2025	SYSTEM	\$81,840.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0010) due to user wilesr overridding Payment Estimate Exception 14 on the current Payment Estimate.
				- Total				\$0.00	
			Material - To	riai - Totai				\$0.00	
		- Total						\$0.00	
	0560	VERTICAL DRAIN AT END BENTS	Material		4	Sep 15, 2025	SYSTEM	(\$2,200.00)	
					4	Sep 15, 2025	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0003) due to user wilesr overridding Payment Estimate Exception 7 on the current Payment Estimate.
					5	Oct 1, 2025	SYSTEM	(\$2,200.00)	
					5	Oct 1, 2025	SYSTEM	\$2,200.00	This adjustment offsets the original system-generated Material Payment Estimate Item Adjustment (0011) due to user wilesr overridding Payment Estimate Exception 15 on the current Payment Estimate.
				- Total				\$0.00	
			Material - Total					\$0.00	
	0560	- Total						\$0.00	
J9P3690 -	Total							\$105.23	
Overall -	Total							\$105.23	

MoDOT

Contract Adjustments for Contract - 250117-H02

There are no contract adjustments to display for this contract.

Revision 5/29/2025 Page 11 of 11